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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 5Dx -2 -300 1t 5Dx -3 -500 5

2 it 1t 3C +2 150 [ri] 3D -2 100 2

3 |#z@mAl & | 2s | = | 110l & | 4s | 1| s0 | 24
4 E=] x INTX -1 200 x INT -1 100 3

5 |Eitl & 1aH +1 | -450 x 4H +1 | -450

6 panyiic] [ri] 3NT = -600 x 4Sx -2 500 15
7 WE=] [£3] 6S -1 -100 [£3] 4S +1 650 13
8 TS [£3] 4H -2 -100 [£3] 4H -1 -50 2
9 panyiie] x INT = -90 1t 2S +1 140 6
10 | WHB [ri] 1S -1 100 1t INT -1 -100 5
11 | W [ri] 5H = -450 x 3NT = -400 2
12 | Edb [ri] 4S -1 50 1t 4H = 620 11
13 | W/ [£3] 2S -2 -200 1t INT = 90 7
14 | W 1t 3NT +1 430 1t 3NT = 400 1
15 | Edt [£3] 5D +2 640 [£3] 7D -1 -100 12
16 | ZRFg [ri] 3NT -1 100 [ri] INT = -90 5
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] [= (U BkiS{ieapA Y. X+ 37 56

e /1R X AR/ e Aait 37 | 56
i/ = et/ EE V.P. 52 | 14.8
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it : =S L I E:1:) it : ZBRIE R KEE
B M2 7 : RIER B MR 7Y : )%
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl & [3NTx| +1 | 650 | 4t | 3s | = | 140 13
2 |kl & | 20 | +2 | 130 & | anT | +2 | 150 | 1
3 |zAm| m | 3s | = | 40| & | 4s | 12| 50 | s
4 |wal ® | 3s | 2| 200 & | 2nT | = | 120 2
5 |@mit] &= | a0 | +1 | 450 | &= | eH | -1 | s0 11
6 |zm| & | aNT | = | 600 | 7 | aNT | -1 | 100 12
7 |we| m | 6s | -1 | -1200| ® | 6s | -1 | -100
8 | Wk it 4H = 420 1t 4H = 420
o |#HA| 4 | 2s | = | 120| &® | 3D | -3 | 300 5
10 |wal &t | 2s | 2| 200 7 | 30 | = | -110 3
117 |wxel @ | sH | = | 450 & | 4sx | 3 | 500 | 2
12 |t & | 4s | = | 420 7 | 4sx | = | 590 | s
13 |wal & | 2s | 1 |-100] & | 3H | -1 | 100 5
14 |wxl 46 | anT | = | 400 46 | 25 | = | 120 | 7
15 |t m | eD | = | 1370| @ | 6D | = | 1370
16 || 46 | 3H | 2 | -200] 7 | onT | = | 220 1
DATUM% it I E
FRLLEERPEA {TIR(ERER Z: 3+ ] 23 | 49
EHE/FE PRIE /R ait 23 | 49
SREZE/{AENE CIFEEIESIES] V.P. 3.91 | 16.09
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4 ERigtEPA VS 10 iFYIIHF7ARA
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ERIBIERA RN ABA RN A BA IR
it . ST IR OUIERF 1t : BRBEI K thE=
B EEE 7 : 5KFHBAF & bk 7 : PRELE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 6NT -1 50 [£3] 4HX -2 -300 8
2 it x 2NT +1 -150 1t 3C +1 130 7
3 panyiie] [£3] 3S +1 170 [£3] 4S -2 -100 7
4 E=] 1t 3H = 140 [£3] 2H +1 140
5 |Eitl & 1aH +1 | -450 x 4H +1 | -450
6 panyiic] [ri] 3NT = -600 [ri] 5C -2 200 13
7 WE=] [£3] 6S -1 -100 [£3] 4S +2 680 13
8 TS 1t 4H = 420 1t 3NT -2 -100 11
9 panyiie] x 2NT -2 200 1t 2D -2 -100 7
10 | WHB [£3] INT = 90 [£3] INT = 90
11 | W [£3] 4Sx -3 -500 [£3] 4Sx -3 -500
12 | Edb [£3] 5Hx -2 -500 [£3] 5Hx -2 -500
13 | W/ [ri] 4H -2 200 [£3] 2S -1 -100 7
14 | WF B |3NTxx| +1 1000 1t 3NT = 400 12
15 | Edb [£3] 6D = 1370 1t 6NT = 1440 2
16 | ZRFg [ri] 2D +2 -130 1t 3H -2 -100 1
DATUM&iit iFE
ERiStEPA xR =BA r: 5 ] 52 | 36
= A== BERRHE AL/ B ait 52 | 36
SRE/IRE VOAERE /3 HBRE VP, fas1s] se2
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13 KiE(EH) VS 6 FREEZFA
H= A=
KIS rREEZA rREEZA KIS
it | FEREE ® R it : {24588 7R - XU
B ERN 74 . 8 = 7 : 55
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2D +1 110 1t 3D -50 4
2 it x 3NT -1 50 [ri] 3D -2 100 2
3 panyiie] [£3] 4S -1 -50 [£3] 2S +2 170 6
4 E=] [£3] 2NT = 120 [£3] 25X +1 870 13
5 | &kl A& 1aH +1 | -450 x 4H +1 | -450
6 panyiic] [ri] 3NT -1 100 [ri] 3NT +1 -630 12
7 E=] x 6Cx -2 500 [£3] 6S -1 -100 12
8 TS 1t 4H -2 -100 [£3] 4H = 420 11
9 panyiie] [£3] 2C +1 110 [£3] 1H +1 110
10 | \WHB 1t 2S -1 -100 1t 2S -1 -100
11 | W [£3] 4Sx -3 -500 [£3] 4Sx -3 -500
12 |ggdel & | 4sx | -1 | 100 | 7 4S 1 50 2
13 | WH/ [ri] 2NT -1 100 [£3] 1S = 80 1
14 | W [£3] 3NT +1 430 1t 3NT = 400 1
15 | Edb [£3] 6D = 1370 1t 7C -1 -100 16
16 | ZRFg x 4D = -130 x 3D +1 -130
DATUM#it T
KIEERE) FREEZRA y. S+ ] 48 | 32
F KR/ BRAN (B{ERR/ £ B ait 48 | 32
Xl B/ 5 5i5AA FRIBZE/ B V.P. 14.18 | 5.82
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A= =
—X(BHRR LI JZRIRBA 7L JZEMRBA —X(BHRR
it : XUf2 IR &b it : EmIFH . B
g EE iR =R 7 . [ iR 3 2
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxel & | ecx | = |-2000| 4t | 3D | +1 | 130 15
2 |kl ® | 30 | 2| 50 | & | 2p | = | 90 | 4
3 |#HAm| m | 3s | = | 140 ®m | 3s | 12| 50| s
4 |wal @ | 3H | = | 40| & | anT | = | 120 ] 12
5 | &kl A& 1aH +1 | -450 x 4H +1 | -450
6 |zm| @ | aNT | = | 600 | ® | 4s | -1 | 100 12
7 |we| m | 6s | = | 1430 ®m | 6s | -1 | -100 | 17
8 |wxl| 4 | a0 | 2| 50 | 4t | a1 | = | 420 10
o |&HA| 4 | 2s | = | 120| &® | 3D | -3 | 300 5
10 |wal 46 | 2s | 2 | 200 4t | anT | -1 | -1200 3
11 |kl B | 4sx | 3 | 500 | B | 4sx | -3 | 500
12 @l @ | 2s | 2| 240 4t | s5H | -1 | -100 1
13| wal @ | 2H | = |20l & | 2s | = | 110 6
14 Wkl 4t | aNT | +2 | 430 | B | aNT | = | 400 | 1
15 gt & | eH | = | 1430 46 | 7H | -1 | -200 | 17
16 | ZRFAAl 7 3D +1 | -130 x 3D +1 | -130
DATUM% it I E
—X(EHF=E LI JZEABA z. 3+ 45 | 52
XURZ/ E 2 FEmIPH/Z%MH ait 45 | 52
RRIEARI 1 FEAVE K V.P. 7.97 | 12.03




FRERHEAT

2% %6 5 201448 24H
14 BRITECALEA VS 8 iIIMFRPA
A= =
ERITSCIRA LI B ARRA LI B ARRA ERITSCIRA
3t : #NE R REE it : Z=EDY IR KR
B SER 7 : BEF B REF 7 XER
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl & | ssx | 5 |-1200) 4t | 4D | -1 | 50 14
2 |gt] = | aNnT | 2 | 00| & | aNT | -2 | 50 2
3 |zAE| @ | 3s | 1| 50| @ | 4s | 1| 50
4 |wal & |anTx| = | 690 | B | 3H | = | 140 | 11
5 |Eitl & 1aH +1 | -450 x 4H +1 | -450
6 |zmm| 7 | aNT | +1 | 630 | # | 3NT | +1 | -630
7 |we| m | 4s | +1| 650 | & | 6s | -1 | -100 | 13
8 |wxl| 4 | aH | 2| 50| 4 | a1 | 2 | -100]| 2
o || ®# | s3p | 2| 20| & | 2s | = | 110] 3
10 |wal 46 | 2s | 2 | -200] 4t | 25 | -1 | -100
11 |[wxk| & | 4sx | 3 | s00| & | 4sx | -3 | 500
12 gl @ | 4s | = | 420 & | s5Hx | -1 | 200 6
13| wal & | 2s | 2| 200 & | 3H | -1 | 100 7
14 |wxk| 4t [ anT | +1 | 430 | B | oanT | +2 | 180 | 6
15 |@dtl 4t | anT | +2 | 660 | 46 | 7c | -1 | -100 | 13
16 || 4t | 3H | 2 | 100] ® | 3D | +2 | 150 | 2
DATUM# it iFE
BFiTseAVBA LI =BA Z. 3+ ] 52 | 27
WIS DR, ZEY/REF ait 52 | 27
BKR/ET BB XZ/pAF V.P. 15.92 | 4.08




